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Which one of the following gas causes acid
rain?

(A) Hydrogen

(B) Sulphur dioxide and nitrogen dioxide

(C) Methane

(D) Carbon dioxide

Florais aterm for :
(A) Plants

(B) Viruses

(C) Animals

(D) Microbes

High amount of E. coli in water is an indicator
of:

(A) Hardness of water

(B) Chlorine in water

(C) Softness of water

(D) Water pollution

Concentration of Oxygen in atmosphere :
(A) 70%
(B) 68%
(©) 21%
(D) 78%

CPCBiissituated at :
(A) Mumbai

(B) Delhi

(C) Dehradun

(D) Kolkata

Tobacco opposition dayison :
(A) 5 May

(B) 6July

(C) 31 May

(D) 20 October

frefafea & 9 SA- 19 o oo

FREH B?

(A) TTEEISH

(B) WY TIZATFAES AT AT3ISA
STE3TTHATES

(C) Hem
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(A) T4

(B) araz®

(C) SR

(D) gt
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(B) i H FARM

(C) & ! HITerdl

(D) St& Ggo

e H SAfediSE Hi Higdl-
(A) 70%
(B) 68%
(C) 21%
D) 78%

Hrdrdieft feor 2-
(A) 98
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(D) HIcThTal
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(A) 5 TS
(B) 6 e
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(D) 20 3T
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10.

11.

Biodiversity is conserved through :
(A) National Parks and Zoo

(B) Botanical Gardens

(C) Wildlife Sanctuary

(D) All ofthese

International day for the preservation of the
Ozone layer is celebrated every year :

(A) 21 March

(B) 16" September

(C) 5™ June

(D) 2" February

What is the disadvantage of population
explosion?

(A) Extraburden on Natural Resources

(B) Unemployment

(C) Pollution

(D) All ofthe above

Gir National Park is famous for :
(A) Tiger

(B) Musk deer

(C) Panther

(D) Asiatic Lion

The Water (Prevention and Control of Pollution)
Act was enacted in :

(A) 1971

(B) 1991

(C) 1974

(D) 1982

10.

11.
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(A) 1971

(B) 1991

(C) 1974

(D) 1982
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12.

13.

14.

15.

16.

The earth day is celebrated on :
(A) 22 March

(B) 22 April

(C) 22 May

(D) 22 June

Green plants are called.
(A) Producer

(B) Consumer

(C) Decomposer

(D) None of these

Which of the following is not a greenhouse gas?
(A) Carbon DiOxide

(B) Nitrogen

(C) Nitrous Oxide

(D) Methane

Which of the following is example of environment
friendly energy?

(A) Solar Energy

(B) Wind Energy

(C) BothAand B

(D) None of the above

The unit of temperature is :
(A) °C

(B) db

(C) BothAand B

(D) None of the above

12.

13.

14.

15.

16.
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17.

18.

19.

20.

21.

22,

Maximum forest cover is found in the state :
(A) Arunachal Pradesh

(B) Uttar Pradesh

(C) Madhya Pradesh

(D) Andhra Pradesh

Highest biodiversity is found in which country?
(A) Argentina

(B) Mexico

(C) Brazil

(D) South Africa

The most stable ecosystem is :
(A) Forest

(B) Desert

(C) Mountain

(D) Ocean

Who is associated with ‘Chipko Movement’?
(A) SalimAli

(B) GauraDevi

(C) Rachel Carson

(D) None ofthese

Montreal protocol is related to :
(A) Greenhouse gas emissions
(B) Protection of Ozone layer
(C) Eutrophication
(D) Pollution abatement

Frequency of sound is measured in :
(A) Metres

(B) Hertz(Hz)

(C) Km

(D) Moles

17.

18.

19.

20.

21.

22,
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OEIES
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(D) A
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23.

24.

25.

26.

27.

High growth rate of human population is called :
(A) Growing population

(B) Natality

(C) Overpopulation

(D) Population explosion

The interior most layer of the earth is known
as:

(A) Core

(B) Mantle

(C) Crust

(D) None of these

Which of'the following is a source of indoor air
pollution?

(A) Combustion ofkerosene oil

(B) Combustion of wood

(C) Combustion of coal

(D) All ofthese

United Nations conference on human
environment in 1972 was took place in :

(A) Brazil

(B) Sweden

(C) Stockholm

(D) Germany

Which amongst the following is a primary
consumer?

(A) Bacteria

(B) Goat

(C) Tiger

(D) Vulture

23.

24,

25.

26.

27
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28.

29.

30.

31.

32.

Radioactive element which has been found to
have large reserves in India is :

(A) Plutonium

(B) Radium

(C) Thorium

(D) Uranium

Which of these layers of the atmosphere consists
of the ozone layer that is responsible for
absorbing the Ultra-Violet (UV) light?

(A) Troposphere

(B) Mesosphere

(C) Stratosphere

(D) None of these

According to the National Forest Policy of
India, to maintain ecological sustainability the
ideal percentage of the total geographical area
under forest shouldbeatleast

(A) 33%

(B) 50%

(C) 45%

(D) 15%

An extensive number of chains interlinked in an
ecosystem formsa  together.

(A) Food chain

(B) Carbon cycle

(C) Food web

(D) Nitrogen cycle

Blue revolution is related to :
(A) House

(B) Fish production

(C) Cotton production

(D) Milk production

28. % eAt ¥t 9@ fSus 9mg ad d W2

29.

30.

31.
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33.

34.

35S.

36.

37.

Which year was declared as International Year
of Biodiversity?

(A) 2002

(B) 2010

(C) 2020

(D) 1972

Which one of these does NOT refer to the direct
use of forest products?

(A) Grass and grazing

(B) Gums and resins

(C) Timber

(D) Bamboo for baskets

Which of t hese gases is not permitted to be
released by the Prevention and Control of
Pollution Act by the Government?

(A) Sulphur Dioxide

(B) Carbon Monoxide

(C) Nitrogen Oxide

(D) All ofthe above

Which one of the following elements can lead to
numerous fatal diseases if present in the drinking
water?

(A) Phosphorus

(B) Calcium

(C) Arsenic

(D) None of the above

At present the world population is increasing
per year at the rate of :

A) 1.8%

B) 2.5%

(©) 2.8%

(D) 1.1%

33.

34.

35S.

36.

37.
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38.

39.

40.

41.

42.

Which of these countries constitute
approximately 57% of the various large dams in
the world?

(A) Brazil and India

(B) Japan and India

(C) Chinaand India

(D) Brazil and China

‘Bombay High’ is associated with :
(A) Solar Energy

(B) Petroleum

(C) Hydroelectricity

(D) Water Sports

Largest sized bird is :
(A) Peacock

(B) Penguin

(C) Ostrich

(D) None of the above

What is UNCED?
(A) United Nations Conference on Education
(B) United Nations
Environment and Development
(C) United Nations
Environment Day
(D) None of these

Conference on

Conference on

The term Ecology was coined by
(A) A.G Tansley

(B) Earnst Haeckel

(C) Aristotle

(D) Linnaeus

38.

39.

40.

41.

42.
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43.

44.

45.

46.

47.

Fauna is aterm for :
(A) Plants

(B) Viruses

(C) Animals

(D) Microbes

Environmental education is important only at :
(A) Primary school stage

(B) Secondary school stage

(C) Collage stage

(D) All stage

An ecosystem consist of :
(A) Green Plants Only
(B) Consumers Only
(C) Decomposers Only
(D) All ofthese

The environment which has been modified by
human activities is called :

(A) Natural environment

(B) Anthropogenic environment

(C) Modern environment

(D) Urban environment

Wildlife week fallsin :
(A) October

(B) July

(C) September

(D) March

43.

44.

45.

46.

47.
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o uiferfant @ § i §-
(A) Fad B T
(B) aal U
(C) Haa EIHISR
(D) ST 9t

ag TateRer o9 #mdtE wfafafarat g
Helifua oo T ®, wee e-
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48.

49.

50.

51.

52.

The most famous Earth Summit is held in 1992,

was organized at :
(A) Helsinki

(B) Kyoto

(C) Rio-de-Janerio
(D) Johannesburg

Physical and chemical components of an
ecosystem constitute :

(A) Biotic structure

(B) Abiotic structure

(C) Both (A) and (B)

(D) None of these

Flammable gas in gobar gas plant is :
(A) Ammonia

(B) Carbon mono-oxide

(C) Methane

(D) None of these

Pyramid of number is given by :

(A) Haeckel

(B) Odum

(C) Elton

(D) Tansley

The primary producers in a forest ecosystem
are :

(A) Green Plants

(B) Herbivores

(C) Carnivores

(D) Bacteria and other micro-organism

48.

49.

50.

51.

52.
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(C) (A) ¥R (B) =i

(D) 719 ¥ #E &

TeR 9 H49 ¥ soemsia T 8-
(A) it

(B) ®E4 Al TS

(C) #rem

(D) 399 ¥ ®HE T

Hen % i fros g fen w3
(A) &
(B) sirew
(C) TE=d
(D) T

o1 aiifafaat d5 o wufhes ScRE B-
(A) & WY

(B) YRR

(C) HiERr

(D) se=ifen iR o ged Sia

[ VAC-09 |



53.

54.

55.

56.

57.

Sunlight is the source of :
(A) VitaminA
(B) Vitamin B
(C) VitaminC
(D) VitaminD

The largest reservoir of nitrogen in our planet
is:

(A) Ocean

(B) Atmosphere

(C) Biosphere

(D) Fossil fuels

Ennvironment is the life support system that
includes :

(A) Air

(B) Water

(C) Land

(D) All ofthe above

The first national park of India is situated in :
(A) Assam

(B) Madhya Pradesh

(C) Tamil Nadu

(D) Uttarakhand

Energy from the heat inside the earth is :
(A) Natural gas

(B) Geothermal

(C) Petroleum

(D) None of these

13

53.

54.

55.

56.

57.
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S8.

59.

60.

61.

62.

Moisture in the air is known as :
(A) Water

(B) Fog

(C) Snow

(D) Humidity

AIDS day is celebrated on :
(A) I**November

(B) 1**December

(C) 5" December

(D) 30" November

The species restricted to be present in one region
are called :

(A) Endemic species

(B) Endangered species

(C) Keystone species

(D) None ofthese

What is Kyoto Protocol?

(A) Anagreement for reducing global
warming

(B) An agreement for reducing acid rain

(C) Anagreement for planting trees

(D) An agreement to start using nuclear

energy

White revolution is related to :
(A) House

(B) Fish production

(C) Cotton production

(D) Milk production

14

S8.

59.
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gl § IH I w1 HET S B2
(A) S
(B) =Ieq
(C) o
(D) 3Trstert

Ty faad R S 2 -
(A) 1 TR
(B) 1 feg=r
(C) 5 feawr
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63. Which gas is responsible for the global warming? 63. ToE =T % fau wE-E e SRR @2
(A) Nitrogen INRIEESE!
(B) Carbon dioxide (B) e TEAFIEE
(C) Noble gases (C) 3p= I
(D) Hydrogen (D) BTEISH
64. Monal is a state bird of : 64. T B T TF vl -
(A) Uttar Pradesh (A) TR =T
(B) Uttarakhand (B) SWES
(C) Punjab (C) 9=
(D) Gujarat (D) TsRIa
65. Which of the following is a renewable resource? 65. Fefafed & @ SiA-W TH Telhoia
(A) Petroleum A ®?
(B) Biomass (A) TeifaaH
(C) Wind energy (B) SIE™E
(D) None of'these (C) 9ad St
(D) 319 ¥ g T
66. Kanha national parkisin: 66. FHT T ITH 2-
(A) Madhya Pradesh (A) 959 W= °
(B) Rajasthan (B) TS H
(C) Andhra Pradesh (C) oY w9 |
(D) Assam (D) 3188 o
67. Which of the following are major environmental 67. T ¥ WA Y@ gAeRvia ge f=fatea
issues involved in mining? 49 % 9 e
(A) Air Pollution (A) 91g 9
(B) Water Pollution (B) ST 9guUl
(C) Soil Degradation (C) 71 &
(D) All ofthe above (D) ST asft
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68.

69.

70.

71.

72.

Which of the following is not a method for water
conservation?

(A) Rainwater Harvesting

(B) Groundwater Extraction

(C) Improving Irrigation Efficiency

(D) Reducing Water Wastage

Which of the following is responsible for
desertification?

(A) Deforestation

(B) Mining

(C) Overgrazing

(D) All ofthe above

Methyl isocynate gas tragedy occurred where
and when?

(A) Mumbai, 1982

(B) Bhopal, 1984

(C) Delhi, 1984

(D) Lucknow, 1982

Which of'these is not a fossil fuel?
(A) Uranium

(B) Coal

(©) ol

(D) Natural gas

Yellowing of Taj Mahal is an effect of :
(A) Acidrain

(B) Global warming

(C) Ozone depletion

(D) All ofthe above

68.

69.

70.

71.

72.
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(B) &
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(D) ST et
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7
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(A) FIFFm

(B) et

(C) 7=

(D) WrFfaw
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(B) Tl afH
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(D) ST gt
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73.

74.

75.

76.

77.

Death while sleeping in closed room with burning
coal furnace isdue to :

(A) Carbon mono-oxide

(B) Sulphur dioxide

(C) Carbon tetrachloride

(D) Methane

Soil erosion can be prevented by :
(A) Deforestation

(B) Afforestation

(C) Overgrazing

(D) Removal of vegetation

The resources that can be replaced by natural
ecological cycle is called :

(A) Renewable

(B) Non-renewable

(C) Exhaustible

(D) Natural

The capacity to do work is termed as :
(A) Activity

(B) Force

(C) Speed

(D) Energy

The cold desert of India is :
(A) Thar

(B) Ladakh

(C) Ran of Kutch

(D) Bhopal
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78.

79.

80.

81.

82.

Earth's largest ice volume is present in
(A) Himalayas

(B) South America

(C) Antarctica

(D) North America

Ramsar Convention refers to the conservation
of:

(A) Deserts

(B) Agriculture lands

(C) Wetlands

(D) Forest land

The conversion of ammonia to nitrate is known
as:

(A) Ammonification

(B) Nitrification

(C) Denitrification

(D) All ofthe above

The presence of which is necessary for
photosynthesis

(A) Chloroform

(B) Chlorophyll

(C) Phosphorus

(D) Polymer

Name of protocol signed to reduce production
of chlorofluorocarbonsis :

(A) UVB protocol

(B) UVA protocol

(C) Montreal protocol

(D) UVR protocol
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83.

84.

8s.

86.

87.

The Primary Consumers are also called as :
(A) Herbivores

(B) Carnivores

(C) Enzymes

(D) None ofthese

The day celebrated on 5" June is :
(A) Wetland Day

(B) Environment Day

(C) Forestry Day

(D) Earth Day

The concept of 'Biosphere Reserve' was evolved
by

(A) Government of India

(B) Botanical Survey of India

(C) UNESCO

(D) UNDP

Which of the following is a non-biodegradable
waste?

(A) Paper

(B) Wood

(C) Plastic

(D) Food waste

The process of breaking down organic matter
by microorganisms is called :

(A) Photosynthesis

(B) Respiration

(C) Fermentation

(D) Decomposition
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88.

89.

90.

91.

92.

Day celebrated on 16 September is :
(A) Earth Day

(B) Environment Day

(C) Ozone Day

(D) Biodiversity Day

The year declared as the "Water Year" by the
Government of India is :

(A) 2005

(B) 2006

(C) 2007

(D) 2008

Temperate forests occur in Indiain :
(A) Indo-Gangetic Plains

(B) Himalayas

(C) Eastern India

(D) Southern Peninsula

Malaria is transmitted by :
(A) Anopheles Male

(B) Anopheles Female
(C) Culex Male

(D) Culex Female

In grassland ecosystem, the primary consumer
is:

(A) Grass

(B) Snake

(C) Rabbit

(D) Large trees
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93.

94.

9s.

96.

97.

Valley of Flower is located in :
(A) Chamoli

(B) Rudraprayag

(C) Uttarkashi

(D) Tehri

Which one is nature's cleaner?

(A) Producers

(B) Consumers

(C) Decomposers and Scavengers

(D) None ofthese

The source of atmospheric oxygen is :
(A) Nitrogen cycle

(B) Green Plants

(C) Water

(D) Carbon Cycle

What is desertification?
(A) Conversion of forests into desert
(B) Conversion of croplands into desert

(C) Conversion of grassland into desert

(D) All ofthe above

Conservation within the natural habitat is
(A) In-Situ Conservation

(B) Ex-Situ Conservation

(C) In-Vivo Conservation

(D) Ex-Vivo Conservation
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98. Red databook contains data of':
(A) All Plant Species
(B) All Animal Species
(C) Economically Important Species
(D) Threatened Species

99. Which of'the following is threat to biodiversity?
(A) Habitat loss
(B) Poaching
(C) Pollution
(D) All ofthe above

100. Scientific name of Burans tree is
(A) Ficusreligiosa
(B) Rhododendron arboreum
(C) Saraca asoca
(D) Azadirachta indica
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